[N Seat No. :
XY-133

B.Com. Sem. IV
April-2013

208 — Taxation — 11
Time : 3 Hours] [Max. Marks : 70

1. dlRlv 31-3-12 i 2% Y21 adi add gHieRld Ast-qsaiqt viig, 2 3ot 9. d-dl uell

dxl dul-aaidsdl sust 2as 455l s 14
GaR R BH 4

2145 AL 15,000 | =levilel dydld 10,000
AdAY AR 2,000 | »1as dzud, s 3,000
Rlasws ayand vl 1,000 | i A1 3183 1,000
GU3 UL HsLAL v 3,000 | M50 &1L 8,000
Avldd 8,000 | [3(as~s 12,000
wUA 92l 5,000 | 32522 8l 4,000
ALy 2,000 | sl 51 1,12,000
asla sl 3,000
sHRl sl w3l 7,000
s dledld wal 5,000
GuLs 12,000
BAIRL 8,000
Yauls3l vl 7,000
Y 5,000
4isadH UlfHuu 2,000
IR L] 65,000

1,50,000 1,50,000
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-l Alsdl :

1)
@)
3)
(4)
()
(6)

1. (A)

XY-133

Y1531 A4l T 1,000 21 viHL A1 €.

41 US| T 3,000 44l @l i T 2,000 Al A1y €.

Q8L d2U-l ¥ 5,000 Ysadidi ousl €.

Blevilel ayéld Usl T 4,000 UG U= Mol el

Y HARL T 7,000 €9.

Ysdd &AL T 2,000 AU it el

L]
AlFlvl 31-3-12 AL 0% YL Adi @l ez (siseR) oles/Rlss v el Horol ©
LRI 7 EET 7
a3+l cusl 23,000 | garvueltl vl 83,000
gl 2 80,000 | dlgl-l vzlel 25,000
gel wiidl o2 6,000 | 2215 uoLR 70,000
As1RL, A2l 31,000 | @a- dlHL UlHaH 25,000
3UAL A 64,000 | delsH 15,000
gal, AL 26,000 | dlosofl w2l 20,000
AllAl 1% 33,000 | 24i[32 31 12,000
30y, A1 17,000 | 2413 ol 30,000
2,80,000 2,80,000

-l Wlsdl :

(1)  adA 2id dll-l 22ls 35,000 -l ¢9.

(2) AL UL 8ARL T 10,000 €9.

du-l dar-aiaddl 2uas sdl s2.

2

7



(B) A weudd el U8l 59 284 dul-uaqiaqdl s dsul ele oA Al ? 4
(1) i A2 el
(2) MY AU sl
(3) =RAxSlU uaq el
(4)  ARqd3U 2ud el
sy
A2 USL su1 25 de-aauanl dlds dsu ele ol aeuy, ?
(1) Adul 4zl
(2) AaA Azl
(3) oilaa dzl
(4) AYsdd de
(C) AL Usl sul gl dal-aa-l Ay dso olle Hoaus dRuy ? 3
(1)  deuel Aol qAIRL
(2) U3 UUA ULl HARL
(3)  al ex(Hult dAd Uil vARl
2y
A2 UL suL VlHAH dar-aaaiuHdl Wl apuy ?
(1) addl dlHaH
(2) wdlsadH UMan

(3) il i WlHux
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2. (A) diFlv 31-3-12 AL ¥ YU Adi 9 el @0UL sl AaelRl A el .
drl vl sulsl 44l sl Ml ¢

fMasa wile det wile 1-4-81-1 | Risilaa
(BHa (ZHa Al Baa | yas 2
3 3 3
1. vidll ol 1,00,000 | 3,00,000 | 10-1-87 - 140
2. w3l ol 32,000 | 5,30,000 | 10-1-77 40,000 100
3. AR ool e 15,000 | 1,85,000 | 10-1-88 - 150
Aladd (3ol

Ay
(1) ol o [Hesdl g2 2012 Mi dAd .
(2) ad 2012-13 -l YAS lis 785 9.
L]
(A) 218 d Al Aol 2L
(1) 2Wstedl 1sit-l 3eeclell adi 3ydlAst 00 san 54+ aarans-l 2l 5.
(2) el Al wgdRAl [Haml weudl. (48l si-l &g ul)
(3) {51l usR wsual.
(B) Al Mesdl 3i-Haasd © 5 s d weudl : (sidust aR)
(1) wa-il 2l
(2) iod e
(3) uldl-l ¥l
(4) wadl
(5) »dd
6) sidlaude

244l
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A2l U5l 59 2Uasl 200 AL S Ssol sUlmL Ry ¢ (SISURL AR)

(1) Hsld Uel-eLg

(2) wHld cug

(3) alesldl 2uas

(4) = [zau-l ol

(5) a5 dR1d, J158

(6) uidl-l 2uas (Cudul)

(C) “at=y 1"l 2uasi s dsor warz Hadl =18l sloidl il 3

L]

LsR3s 2uas [N A9 vl

3. (A) sl 1idl el 2idi-l oSl weudl. 7
L]
544 80 (C) €64 olle HoUeL &ld ddl Ald euetdl il
VL]
%Al s2eldl-l $A 2lasMi AHA A 9 ddl 21y A2l 2uasl eeudl.

(B) -l sa AN 2195 T 500,000 9. dxgl {12 Yool sid 2Ua 9. s44 80 (G)

Soul il suld oLl : 4
4
(1) Aurd 334 534l el 25,000
(2) UYL 163Ul L 20,000
(3)  géol [Raln-l uAR 2 A1 &l 15,000
(4) M daldls 22 s oligsiH WL el 10,000
24241

HsadH dlHl YIBUH 2100 544 80 (D) -l suld-l oot Al
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(C) Hald sl 210 vl il ot Feldl. 3
24

vl QIR a5l [@Qu iYL @il

4. (A) d1d YAalHd d2U-l 514€1-2003 -9l AL, MUIREL AL 7
24l
o YeHdltd dRU-Al 514€1-2003 -y s2(FUld Aluell Horadil el
(B) ulda 2su il Aluell-l Aaradil wsudl. 4
RET]
Aldu 25 edReL UMl
(C) uldA 2su-l suat oi-lla 2i2d g ? 3
U]

5[ ARl @&l %Ll

5. <l 35 ver-usdl 12 »ude gquetniell AL waler 458l 52U aelddl § Ayl

%331 9 @ (A4 d Ald) 14
(1) @a- dlx UBaH (A il sam 80 (c) o0l agHi Ay sedl 254 ol M4l 2

(d ¥1,00,000

(b) % 1,20,000

(c) 1,50,000
XY-133 6



(@)

3)

(4)

()

(6)

XY-133

50 ad-l siser s10o Wdldl WAl uR T 35,000 WdsASH MIMuM ¢Re .
544 80(D) €60l dH 32l suld olle 1Ol ?

() % 15,000
(b) % 20,000
() % 35,000

N

w5 duIFld sUlsL Hid e-d2ilar T 15,000 © dd $d 2-utlar sedl sl ad

N\

dl d de Ys9dl BUALIR ol ?

(a) %5,00,000

(b) ¥ 8,00,000

(c) ¥6,00,000

A2l Ul 565 a8 dur-qauaHdl aweuy ?
(@) ols Uy

(b) wdd a2l

() Hia [¥[as=s

w5 dodl Yo [Bud 330,000, 8L ol [(BHd T 20,000 2t o122 [B4d T 15,000
9. ARLAL &2 15% &1 dl Alls guRl Sedl e 1l ?

(@) % 3,000
(b) % 4,500
(€) 2,250

ARl 1-4-81 ugdl wledd A+l YA U 2ladl Hie Al 59 Bud elul
Al 219 9 ?

(@) wile [34d
(b) 1-4-81 -l awxell ez (ud

(ORERA
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(7)) A2l Ul 59 Basd yd-(Hasd 4 awuy ?
(8) AR wlealdl 855
(b) vleLl UL 855
(c) ldld su3i

(8) dledlAdl Sum-l Hol Al 254 T 17,500 9. T.D.S. -l &2 30% ¢9. diesll
s sl 53

(@) % 25,000
(b) % 17,500

(€) 12,250
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Time : 3 Hours]

1.

XY-133

B.Com. Sem. IV
April-2013

208 — Taxation — 11

Seat No. :

[Max. Marks : 70

Debit 3 Credit 3

Income tax 15,000 | Bad debt recovery 10,000
Professional tax 2,000 | Income-tax refund 3,000
Dividend collection exp. 1,000 | Professional tax refund 1,000
Exp. of house (let-out) 3,000 | House rent 8,000
Charity 8,000 | Dividend 12,000
Discount 5,000 | Directors’ fee 4,000
Subscription 2,000 | Gross profit 1,12,000
Legal fee 3,000
Workers’” welfare exps. 7,000
Workers’ training exps. 5,000
Drawing 12,000
Depreciation 8,000
Travelling exps. 7,000
Interest 5,000
Mediclaim Premium 2,000
Net profit 65,000

1,50,000 1,50,000

9

XY-133

Lumadara’s Profit & Loss Account for the year ended on 31-3-12 is as under. Find out
his taxable income from business and profession :

14

P.T.O.



Other information :

(1)
(2)
3)
4)
()
(6)

1. (a)

XY-133

Travelling exps. include X 1,000 personal exps.

Interest includes ¥ 3,000 int. on capital and ¥ 2,000 loan int.

Unpaid sales tax is ¥ 5,000.

Bad debt recovered ¥ 4,000 was not allowed as bad debt.

Allowable depreciation is ¥ 7,000.

Advertisement paid ¥ 2,000 is not recorded in the books.
OR

Doctor Bakum’s Cash and Bank Account for the year ended on 31-3-12 is as
under :

Particulars 4 Particulars 4
Opening Balance 23,000 | Exps. of Hospital 83,000
Income of Hospital 80,000 | Purchase of blood 25,000
Gift from patients 6,000 | Staff salary 70,000
Sale of Investment 31,000 | L.I.C. Premium 25,000
Room charge 64,000 | Subscription 15,000
Sale of Medicine 26,000 | Electricity exps. 20,000
Blood charge 33,000 | Audit fee 12,000
Ambulance charge 17,000 | Closing balance 30,000

2,80,000 2,830,000

Other information :
(1) Blood stock at the end of the year is ¥ 5,000.
(2) Depreciation on instruments is ¥ 10,000.

Find out income from Business and profession.

10



(b) Which of the following donations are not deductible under the head of Business

(©)

XY-133

and profession ? 4
(1) Donation recognized institution.
(2) Donation to unrecognized institution.
(3) Donation to political party.
(4) Donation in kind of Commodity.
OR

Which of the following taxes are deductible under the head of Business and
profession ?

(1) Wealth-tax

(2) Professional tax
(3) Gifttax

(4) VAT paid

Which of the following depreciations are deductible under the head of Business
and Profession ? 3

(1) Depreciation on business machines
(2) Depreciation on let-out house
(3) Depreciation on machine sold during the year
OR
Which of the following premiums are treated as business expense ?
(1) Life Insurance Premium
(2) Mediclaim premium

(3) Insurance premium on stock in trade

11 P.T.O.



2. (3

(@)

(b)

XY-133

Find out taxable capital gain from the following transactions passed by Jiga for the

year ended on 31-3-12:
Assets Purchase | Selling Date of Market Index
Price Price Purchase | Value on | Number
z z 1-4-81
4

1. Agriculture Land | 1,00,000 | 3,00,000 | 10-1-87 - 140
2. Urban land 32,000 | 5,30,000 | 10-1-77 40,000 100
3. Debentures not 15,000 | 1,85,000 | 10-1-88 - 150

registered in share

market
Notes :
(1) All the assets sold in January 2012.
(2) Index Number for the year 2012-13 is 785.

OR

Answer any two of the following :

1)

)

3)

Explain provision of section 54 regarding capital gain arising due to transfer

of residential house.

Explain provisions in respect of cost of Bonus share for the purpose of capital

gain.

Explain types of capital gain.

Mention whether following assets are capital Asset or not : (any four)

1)
()
©)
(4)
(5)
(6)

Stock in trade
Personal vehicle

Agriculture land

Goodwill
Jewellery
Copyright
OR
12

7



(©)
3. (3@
(b)
XY-133

Which of the following incomes are taxable under the head of “Other sources”
(any four) :

(1) Renton sub-let house

(2) Ground rent

(3) Lottery income

(4) Birth-day gift

(5) Income tax refund

(6) Agriculture income in India

Mention three items deductible under the head of “other sources” 3

OR

Write note on casual income.

Explain provisions regarding writing of the loss. 7
OR
Mention seven items deductible under section 80 (c).
OR
Mention other persons’ incomes which are included in the income of the assessee.

Gross total income of Sudhin is ¥ 5,00,000. He made donations as under. Calculate

deductions under section 80 (G) : 4
4
(1) Donation to National Defence Fund 25,000
(2) Donation to Rajiv Gandhi Foundation 20,000
(3) Donation to Government for family planning 15,000
(4) Donation to recognized educational trust for building 10,000

construction

OR
13 P.T.O.



(©)

(b)

(©)

Explain provisions of deduction regarding mediclaim insurance premium u/s
80(D).

Explain provisions to carry forward the loss of business. 3
OR

Write note on unexplained incomes.

Explain incidence of tax under Gujarat Value Added Tax Act 2003. 7
OR

Explain provisions of Compulsory Registration under Gujarat Value Added Tax
Act - 2003.

Explain provisions of registration under Service Tax. 4
OR
Explain incidence of “Service Tax’.
What is taxable event of service tax ? 3
OR

Explain characteristics of Central Sales Tax.

5.  Select correct answer from the answers given below the sub-questions. Give calculation

or explanation : (any seven) 14

1)

XY-133

What is the maximum amount deductible u/s 80 (c) regarding L.I.C. premium etc. ?
(@ ¥1,00,000
(b) ¥1,20,000

(c) 1,50,000
14



(2) Doctor Kazi (50 years of age) has paid ¥ 35,000 as mediclaim premium on his
policy. What amount is deductible u/s 80 (D) ?

() % 15,000
(b) % 20,000
(©) % 35,000

(3) Turnover of taxable goods of a dealer is ¥ 15,000. Mention the limit of the total
turnover which is required to cross to make him liable to pay VAT ?

(a) ¥5,00,000
(b) < 8,00,000
(c) 6,00,000
(4) Which of the following is business income ?
(@) Bank interest
(b) Discount received
(c) Dividend received

(5) The cost of a machine is ¥ 30,000, its W.D.V. is ¥ 20,000, and its market value is
¥ 15,000. If the rate of depreciation is 15%, find out annual depreciation.

(@) % 3,000
(b) % 4,500
©) 2,250

(6) Which price is to be considered to find out indexed cost of the shares purchased
before 1-4-81 ?

(@) Purchase price
(b) Fair market value as on 1-4-81

(c) Zero

XY-133 15 P.T.O.



(7) Which of the following assets is not capital asset ?
(@) Right to purchase share
(b) Leasehold right of a mine
(c) Personal clothes

(8) The Net amount received of lottery prize is ¥ 17,500. The rate of T.D.S. is 30%.
Find out income of a lottery.

(a) % 25,000
(b) % 17,500

(€) 12,250

XY-133 16
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